» Langer & Laumann®

Umbauanleitung
assembly instruction

Otis D2000

10.11.2022 1.20.91801_Umbauanleitung_Otis_D2000_auf_TSG V1.3 1/30



» Langer & Laumann’

TSG in Otis D2000 -
TSG in Otis D2000

10.11.2022 1.20.91801_Umbauanleitung_Otis_D2000_auf_TSG V1.3 2/30



» Langer & Laumann®

Lieferumfang — scope of supply

picture Number description DE description EN guantity
8.20.00101.04 TSG V4 Lift Door Operator -Electronic extern- TSG V4 Lift Door Operator -Electronic 1
230[VAC]/50-60[Hz] extern- 230[VAC]/50-60
K ) 8.20.4000X.X1 Motor Gross Rechts oder Links & Getriebe, motor large right or left & gearbox, 1
Q" 24V/4,9A/1:15 24V/4,9A/1:15
i 8.20.60002.40 TSG Zahnriemen [4,0m)] TSG toothed belt [4,0m] 1
\‘\ 1.20.60004 TSG Turflugelmitnehmer TSG door panel coupler 1
N
b 8.20.11010 TSG Turfligelmitnehmer rechtwinkelig TSG door panel coupler, right angled 1
1.20.60060 TSG Kombiwinkel, Ausfiihrung 'Hut', fir TSG TSG universal bracket, version 'hat’, for 1
Motor oder Umlenkrad TSG motor or counter roller
1.20.60030 TSG Anschlagsatz Puffer inkl. Halterung TSG stopper kit buffer incl. holder 1
\\\§ 1.20.92110 Adapterplatte Otis adapter plate Otis 1
W
D
10.11.2022 1.20.91801_Umbauanleitung_Otis_D2000_auf_TSG V1.3 3/30



» Langer & Laumann®

picture Number description DE description EN quantity
1.20.60003 TSG Umlenkrad TSG counter roller 1
1.20.92010 Montageplatte fiir Kombiwinkel 'Hut', fixing plate for combi bracket 'hat’, 1
rechtwinkelig, mit Langlécher rectangular, with slotted hole
1.20.92090 Montagewinkel fiir Kombiwinkel 'Hut' schmal, mounting bracket for combi bracket 'hat’, 4
“ ‘ o rechtwinkelig, mit Langlocher rectangular, with slotted hole
1.20.60005 TSG ZahnriemenschloR, Stahl TSG toothed belt lock, steel 1
1.20.59070 Halterung Puffer fir M3TK rectangular stop for M3TK 4
i 8.20.13330 Schraubentdite fir Otis screw bag for Otis 1
| 8.20.13310 Schraubentite screw bag 1

10.11.2022 1.20.91801_Umbauanleitung_Otis_D2000_auf_TSG V1.3 4730



» Langer & Laumann’

Vor Umbau entfernen —

remove before conversion TL

'\. = i . i
\ /
\7
L) RS v
: - s LEl
\J i
I:;-‘ F
R rarTr——r SE
it
Ly ®
- - . iy
i | i
: ‘-
ol —F g
g — s ;
—_—
= S i s
— - L
k AN

TR spiegelbildlich -
TR mirrored

10.11.2022 1.20.91801_Umbauanleitung_Otis_D2000_auf_TSG V1.3 5/30



¥ Langer & Laumann’

Nach Demontage —
remove before conversion

TR spiegelbildlich -
TR mirrored

10.11.2022 1.20.91801_Umbauanleitung_Otis_D2000_auf_TSG V1.3 6/30



¥ Langer & Laumann’

Montage TSG -

assembly of the TSG T

TR spiegelbildlich -
TR mirrored

10.11.2022 1.20.91801_Umbauanleitung_Otis_D2000_auf_TSG V1.3 7 /30



» Langer & Laumann®

»—

Fir TL 6ffnende Tiren
rechts bohren

Drill hole on right side
for TL opening doors

Fur TR 6ffnende Tiren
links bohren
Drill hole on left side for

TR opening doors

10.11.2022 1.20.91801_Umbauanleitung_Otis_D2000_auf_TSG V1.3 8/30



¥ Langer & Laumann’

Pos. | Number Description DE Description EN Menge
210 | 01.20.58070 | Halterung Puffer fir M3TK rectangular stop for M3TK 1
310 [ 01.36.00720 | Sperrzahnschraube WN0274 AZC 8.8 - M8x20 hexagon head serrated screw WN0274 A2C 8.8 - M8x20 1
320 | 01.36.00501 | Sperrzahnmutter Shnlich DING923 vz - M8 serrated locking nut, similar o DINGS23 vz - M8 1
330 | 01.36.00430 | Sechskantmutter IS0 4032 - M8 - 8.vz hexagon nut DINS34-8 vz 8.8 - M8 1
410 | 01.20.91120 | Gummi Metall Puffer 30x15, M8x20 Gewindebolzen | rubber-metal bump stop D30x15, threaded stud M&x20, 75 Shore | 1

m——y

/

10.11.2022

1.20.91801_Umbauanleitung_Otis_D2000_auf_TSG V1.3

9/30



¥ Langer & Laumann’

Pos. | Number Description DE Description EN Menge
210 | 01.20.60060 TSG Kombiwinkel, Ausfihrung "Hut”, fiir TSG Motor oder Umlenkrad | TSG universal bracket, version “hat” 1
310 | 01.36.00135 Sperrzahnschraube DIN 6921 M6x12 verz. hexagon head serrated screw WN0274 A2C 8.8 - M6x12 | 4
410 | 08.20.40001.X1 | TSG 400 Antrieb Rechts mator large right & gearbox, 24V/4 9A/1:15 1

10.11.2022

1.20.91801_Umbauanleitung_Otis_D2000_auf_TSG V1.3

10/30



¥ Langer & Laumann’

Pos. | Number Description DE Description EN Menge
210 | 01.20.92010 | Montageplatte fiir Kombiwinkel Hut, rechtwinkelig | fixing plate for combi bracket ‘hat', rectangular 1
310 | 01.36.00720 | Sperrzahnschraube WN0274 A2C 8.8 - M8x20 Hexagon head serrated screw WND274 AZC 8.8 - M8x20 | 4
320 | 01.36.00501 | Sperrzahnmutter ahnlich DING923 vz - M8 serrated locking nut, similar to DING923 vz - M8 4
10.11.2022 1.20.91801_Umbauanleitung_Otis_D2000_auf_TSG V1.3 11/30



» Langer & Laumann’

"
4 .
Pos. | Number Description DE Description EN Menge
310 | 01.36.00520 | Flachrundschraube Vierkantansatz, DIN 603, 8x25 | truss-head screw with shoulder, DIN 603, 8x25 | 3
320 | 01.36.00501 | Sperrzahnmutter 3hnlich DING923 vz - M& serrated locking nut, similar to DINGS23 vz - M8 | 3

o

10.11.2022 1.20.91801_Umbauanleitung_Otis_D2000_auf_TSG V1.3 12 /30



¥ Langer & Laumann’

Pos. | Number Description DE Description EN Menge

310 | 01.36.00520 | Flachrundschraube Vierkantansatz, DIN 603, 8x25 | truss-head screw with shoulder, DIN 603, 8x25 | 3
320 | 01.36.00501 | Sperrzahnmutter 3hnlich DING923 vz - M& serrated locking nut, similar to DINGS23 vz - M8 | 3
b

10.11.2022 1.20.91801_Umbauanleitung_Otis_D2000_auf_TSG V1.3 13/30



» Langer & Laumann®

&

10.11.2022 1.20.91801_Umbauanleitung_Otis_D2000_auf_TSG V1.3 14 /30



» Langer & Laumann’

Montage Umlenkrolle —
assembly of the TSG counter roller

10.11.2022 1.20.91801_Umbauanleitung_Otis_D2000_auf_TSG V1.3 15/30



¥ Langer & Laumann’

Pos. | Mumber Description DE Description EN Menge
210 | 01.20.92090 | Montagewinkel fir Kombiwinkel Hut schmal, rechtwinklig, mit Langlacher | fixing plate for combi bracket "hat’ slim, rectangular 2
310 | 01.36.00720 | Sperrzahnschraube WN0274 A2C 8.8 - M8x20 hexagon head serrated screw WND274 A2C 8.8 - MBx20 | 2
320 | 01.36.00501 | Sperrzahnmutter Shnlich DINGS23 vz - M3 serrated locking nut, similar to DINGS23 vz - M8 2

10.1

1.2022

1.20.91801_Umbauanleitung_Otis_D2000_auf_TSG V1.3

16/ 30



» Langer & Laumann’

Pos. Description DE Description EN Menge |
310 | 01.36.00520 | Flachrundschraube Vierkantansatz, DIN 603, 8x25 | truss-head screw with shoulder, DIN 603, 8x25 | 6
320 | 01.36.00501 | Sperrzahnmutter dhnlich DINGS23 vz - M8 serrated locking nut, similar to DING923 vz - M8 | 6

10.11.2022 1.20.91801_Umbauanleitung_Otis_D2000_auf_TSG V1.3 17 /30



» Langer & Laumann’

Pos. | Number Description DE Dascription EN Menge |
210 | 01.20.92110 | Adapterplatte Otis adapter plate Otis 1
310 | 01.36.00520 | Flachrundschraube Vierkantansatz, DIN 603, 8x25 | truss-head screw with shoulder, DIN 603, 8x25 | 4
320 | 01.36.00501 | Sperrzahnmutter Shnlich DINGS23 vz - M8 serrated locking nut, similar to DING923 vz - M8 | 4

10.11.2022 1.20.91801_Umbauanleitung_Otis_D2000_auf_TSG V1.3 18 /30



» Langer & Laumann’

Pos. | Number Description DE Description EN Menge |
210 | 01.20,58070 | Halterung Puffer fir M3TK rectangular stop for M3TK 1
310 | 01.36.00520 | Flachrundschraube Vierkantansatz, DIN 603, 8x25 | truss-head screw with shoulder, DIN 603, 8x25 1
320 | 01.36.00501 | Sperrzahnmutter Shnlich DING923 vz - M8 1 locking nut, similar to DING923 vz - M8 1
330 | 01.36.00430 | Sechskantmutter |SO 4032 - M8 - 8.vz hexagon nut DINS34-8 vz 8.8 - M8 1
410 | 01.20.91120 | Gummi Metall Puffer 30x15, M8x20 Gewindebolzen | rubber-metal bump stop D30x15, threaded stud MEx20, 75 Shore | 1

10.11.2022 1.20.91801_Umbauanleitung_Otis_D2000_auf_TSG V1.3 19/30



¥ Langer & Laumann’

Paos. | Number Description DE Description EN Men,
210 | 01.20.58070 | Halterung Puffer fir M3TK rectangular stop for M3TK 2
310 | 01.36.00115 | Sechskantschraube Vollgewinde DING33 vz 8.8 - M8x40 | hexagonal bolt, thread up to head DING33 vz 8.8 - Méx40 | 2
320 | 01.36.00520 | Flachrundschraube Vierkantansatz, DIN 603, 8x25 truss-head screw with shoulder, DIN 603, 8x25 1
330 | 01.36.00501 | Sperrzahnmutter dhnlich DINGS23 vz - MB serrated locking nut. similar to DINGS23 vz - M8 2
340 | 01.36.00450 | Kotfligelscheibe DINS22 vz - B, 4x20x1,25 wing repair washer DING22 vz - 8,4x20x1.25 1
350 | 01.36.00169 | Federming DIN127 vz - M8 lock washer DIN127 vz - M8 1
410 | 01.20.60003 | Tate Umlenkrad TSG counter roller 1
10.11.2022 1.20.91801_Umbauanleitung_Otis_D2000_auf_TSG V1.3 20/ 30



» Langer & Laumann’

10.11.2022 1.20.91801_Umbauanleitung_Otis_D2000_auf_TSG V1.3 21 /30



» Langer & Laumann’

Montage Zahnriemen -
assembly of the toothed belt

10.11.2022 1.20.91801_Umbauanleitung_Otis_D2000_auf_TSG V1.3 22 /30



¥ Langer & Laumann’

[Pos. | Number | Description DE | Description EN | Menge |

.
&

{210 [ 08.20.60002 40 | TSG Zahnriemen [4,0m] | TSG toothed belt [4,0m] | 1 |

10.11.2022 1.20.91801_Umbauanleitung_Otis_D2000_auf_TSG V1.3 23/30



¥ Langer & Laumann’

<.

Description DE__

Pos. | Number Description EN ' Menge | )
210 | 01.20.60005 | TSG Zahnriemenschloss, Stahl TEG toothed belt lock, steel 1 E
310 | 01.36.00135 | Sperrzahnschraube DIN 6921 MEx12 verz, | hexagon head serrated screw WN0274 A2C 8.8 - M6x12
ﬁ%"-‘u-.. ) i) = \
10.11.2022 1.20.91801_Umbauanleitung_Otis_D2000_auf_TSG V1.3 24 /30



» Langer & Laumann’

Zahnriemen spannen -
tensioning tooth belt

10.11.2022 1.20.91801_Umbauanleitung_Otis_D2000_auf_TSG V1.3 25 /30



» Langer & Laumann®

Montage Turfliugelmitnehmer -
assembly of the door panel coupler

10.11.2022 1.20.91801_Umbauanleitung_Otis_D2000_auf_TSG V1.3 26/ 30



¥ Langer & Laumann’

Pos. | Number Description DE Description EN Menge
210 | 01.20.60004 | Tirfllgelmitnehmer 375x35x6 TSG door panel coupler 375x35x6 1

220 | 01.20.60020 | TSG Anschlag fiir Tirfligelmitnehmer TSG stopper for door coupler 1

230 | 01.20.60075 | rechtwinkliges Verbindungsblech TSG Mitnehmer, mit Langlécher | right-angled connecting plate TSG driver 1

240 | 01.20.92020 Turfligelmitnehmer, rechtwinkelig mit Langldcher TSG door panel coupler, rectangular, with oblong holes | 1

310 | 01.36.00710 | Sperrzahnschraube WN0274 A2C 8.8 - M8x16 hexagon head serrated screw WMN0274 AZ2C B.8 - MBx16 | 1

320 | 01.36.02115 | Sechskantschraube 1SO 4017 - M8x16 - 8.8 hexagonal bolt 1ISO4017 vz 8.8 - M8x16 o

330 | 01.36.00520 | Flachrundschraube Vierkantansatz, DIN 603, 8x25 truss-head screw with shoulder, DIN 603, 8x25 2

340 | 01.36.00501 | Sperrzahnmutter dhnlich DINES23 vz - MB sermrated locking nut, similar to DINGS23 vz - M8 2

350 | 01.36.00440 | Scheibe 1ISO 7091-M8 {(@8)-100HV (DIN126).vz washer DIN125A vz - 8.4 2

360 | 01.36.00169 | Federring DIN127 vz - M8 lock washer DIN127 vz - M8 2
10.11.2022 1.20.91801_Umbauanleitung_Otis_D2000_auf_TSG V1.3 27 /30



¥ Langer & Laumann’

L)

L]

]

®

L]

L]

o

S .
N e % .
Lt r
R &
-
< Pl
“ P
-
, 1
7
,

Pos. | Number D iption DE Description EN Menge
310 | 01.36.00710 | Sperrzahnschraube WNO274 A2C 8.8 - M8x16 | Hexagon head 1 screw WNO274 AZC 8.8 - M8x16 | 1
320 | 01.36.00720 | Sperrzahnschraube WNO274 A2C 8.8 - M8x20 | Hexagon head screw WHNO274 A2C 8.8 - M8x20 | 2
330 | 01.36.00501 | Sperrzahnmutter hnlich DINGS23 vz - M8 serrated locking nut, similar to DING923 vz - M8 2

—J

L

10.11.2022

1.20.91801_Umbauanleitung_Otis_D2000_auf_TSG V1.3

28 /30



» Langer & Laumann®

10.11.2022 1.20.91801_Umbauanleitung_Otis_D2000_auf_TSG V1.3 29 /30



» Langer & Laumann®

Langer & Laumann Ingenieurbiiro GmbH
Wilmsberger Weg 8

48565 Steinfurt

Germany

‘o) Tel.: +49 (2552) 92791 0
o

support@Iul-ing.de
www.lul-ing.de

10.11.2022 1.20.91801_Umbauanleitung_Otis_D2000_auf_TSG V1.3 30/ 30



